
Assembly Instructions
Narvik Lounge Chair

41666.0016

H

DF

F

G

H

H

H

H

A

C

E

G

B

F

G

K
M

• Remove all components from the box
• Remove all packaging material and place components on the carton box or a soft, 
  clean surface to protect from scratching.

L

A

B

C

D

E

F - Qty 2 M6x60

M6x13

M6x45

M6x50

M6x40

G - Qty 2

H - Qty 8

K - Qty 1

L - Qty 2

M - Qty 1

Qty 1

Qty 1

Qty 1

Qty 1

Qty 1 Do not fully tighten any bolts until
all components are assembled.


